	Самостоятельная работа

	Вариант 1.
	Вариант 2.
	Вариант 3

	1. Вычислить
А) 1348+1658
Б) 1228-568
2. Вычислить
А)СС16+2616
Б) В3С16-2A16
3. Переведите восьмеричное число в двоичную систему счисления.
613 8?2
	1. Вычислить
А) 3348+1668
Б) 3128-538
2. Вычислить
А) BС16+2416
Б) F3С16-2D16
3. Переведите восьмеричное число в двоичную систему счисления.
713 8?2
	1. Вычислить
А) 2348+1668
Б) 1128-568
2. Вычислить
А) АС16+2616
Б)  В3С16-1D16
3. Переведите восьмеричное число в двоичную систему счисления.
523 8?2

	
	
	

	Вариант 1.
	Вариант 2.
	Вариант 3

	3. Вычислить
А) 1348+1658
Б) 1228-568
4. Вычислить
А)СС16+2616
Б) В3С16-2A16
3. Переведите восьмеричное число в двоичную систему счисления.
613 8?2
	3. Вычислить
А) 3348+1668
Б) 3128-538
4. Вычислить
А) BС16+2416
Б) F3С16-2D16
3. Переведите восьмеричное число в двоичную систему счисления.
713 8?2
	3. Вычислить
А) 2348+1668
Б) 1128-568
4. Вычислить
А) АС16+2616
Б)  В3С16-1D16
3. Переведите восьмеричное число в двоичную систему счисления.
523 8?2

	
	
	

	Вариант 1.
	Вариант 2.
	Вариант 3

	5. Вычислить
А) 1348+1658
Б) 1228-568
6. Вычислить
А)СС16+2616
Б) В3С16-2A16
3. Переведите восьмеричное число в двоичную систему счисления.
613 8?2
	5. Вычислить
А) 3348+1668
Б) 3128-538
6. Вычислить
А) BС16+2416
Б) F3С16-2D16
3. Переведите восьмеричное число в двоичную систему счисления.
713 8?2
	5. Вычислить
А) 2348+1668
Б) 1128-568
6. Вычислить
А) АС16+2616
Б)  В3С16-1D16
3. Переведите восьмеричное число в двоичную систему счисления.
523 8?2










	Домашняя работа

	Вариант 1
	Вариант 2
	Вариант 3

	1. Вычислить
А)  6558+458
Б) 20368-658
2. Вычислить
А) В16+216
Б) E2В16+F16
	1. Вычислить
А)  5568+258
Б)  50328-648
2. Вычислить
А) C16+316
Б)  А2В16+В16
	1. Вычислить
А)  6568+358
Б)  10348-658
2. Вычислить
А) А16+416
Б)  А2В16+F16

	Вариант 1
	Вариант 2
	Вариант 3

	1. Вычислить
А)  6558+458
Б) 20368-658
2. Вычислить
А) В16+216
Б) E2В16+F16
	1. Вычислить
А)  5568+258
Б)  50328-648
2. Вычислить
А) C16+316
Б)  А2В16+В16
	1. Вычислить
А)  6568+358
Б)  10348-658
2. Вычислить
А) А16+416
Б)  А2В16+F16



	Вариант 1
	Вариант 2
	Вариант 3

	1. Вычислить
А)  6558+458
Б) 20368-658
2. Вычислить
А) В16+216
Б) E2В16+F16
	1. Вычислить
А)  5568+258
Б)  50328-648
2. Вычислить
А) C16+316
Б)  А2В16+В16
	1. Вычислить
А)  6568+358
Б)  10348-658
2. Вычислить
А) А16+416
Б)  А2В16+F16



	Вариант 1
	Вариант 2
	Вариант 3

	1. Вычислить
А)  6558+458
Б) 20368-658
2. Вычислить
А) В16+216
Б) E2В16+F16
	1. Вычислить
А)  5568+258
Б)  50328-648
2. Вычислить
А) C16+316
Б)  А2В16+В16
	1. Вычислить
А)  6568+358
Б)  10348-658
2. Вычислить
А) А16+416
Б)  А2В16+F16












